
Category: Small-Sided Games
Difficulty: Moderate

Reseller-Club: Premier Users' Club
Alesha Weicker-Pasternak, Edmonton, Canada

3 v 3 + 2 with target players

- 3 Passes then play it to either target = 1 point
- 3 Passes, then play it from 1 target to the other without the other
team intercepting = 2 points
- The center line is there just as a reference point. If the ball is one
on side A, then the target on side B is the target that has to be
played.

Target Game


	3 v 3 + 2 with target players
	Target Game


